



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Software Engineering) 4th Semester Section-A Morning Session: Autumn 2025

Registration #	Name	GE161					GE163					GE166					GE168					GE265					MT143				
		Application of Information & Communication Technologies					Expository Writing					Islamic Studies / Ethics					Social Sciences (Urdu)					Calculus and Analytic Geometry					Probability & Statistics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S SE Aut-2023-M-A-0007	Aqib Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE Aut-2023-M-B-0064	Adil Ali	43	F	-	3	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-			
B.S SE Aut-2023-M-B-0089	Muhammad Hassan (Withheld due	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE Aut-2023-M-B-0101	Razwan Faqirullah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE Aut-2023-M-C-0132	Dawood Ijaz	-	-	-	-	56	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE Aut-2023-M-C-0135	Hassan Adeel	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	60	C	2.0	3	6.0		
B.S SE Aut-2023-M-C-0164	Umair Shahzad Toor	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE Aut-2023-M-D-0190	Akber Hussain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE Aut-2023-M-D-0195	Hamid Hussain	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	2	6.0	-	-	-	-	-	-	-	-	-	-	-		
B.S SE Aut-2023-M-D-0197	Ishaf Uddin	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	34	F	-	3	-	-	-	-	-			
B.S SE Aut-2023-M-D-0201	Muhammad Asghar Nazir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE Aut-2023-M-D-0222	Shahid Nawaz	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-			
B.S SE SP-2024-M-A-0001	Abdul Ahad Serfraz Abbasi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0004	Aiman Arfaq	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0006	Ali Aousat Kundi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	59	C	2.0	3	6.0	23	F	-	3	-		
B.S SE SP-2024-M-A-0007	Aliyan Nouman	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0010	Atiqa Saleem	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0013	Haroon Khalid	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0014	Hasna Ishtiaq	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0015	Hassan Younas	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0016	Ihtisham Iqbal	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0017	Jaweria Shakoor	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0018	Kamran Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-			
B.S SE SP-2024-M-A-0020	Minal Iqbal	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0021	Momina Raheel	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0022	Muhammad Abbas	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0023	Muhammad Abubakar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0025	Muhammad Ameer Muawiya	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0026	Muhammad Ashir Irfan Satti	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Software Engineering) 4th Semester Section-A Morning Session: Autumn 2025

		MT242					SE111					SE114					SE2110					SE2111					SE213				
		Linear Algebra					Programming Fundamentals (C)					Digital Logic Design					Computer Organization & Assembly Language					Operating Systems					Database Systems				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S SE Aut-2023-M-A-0007	Aqib Ali	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	52	D	1.5	3	4.5	-	-	-	-	-	
B.S SE Aut-2023-M-B-0064	Adil Ali	30	F	-	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	52	D	1.5	3	4.5	-	-	-	-	-	
B.S SE Aut-2023-M-B-0089	Muhammad Hassan (Withheld due	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S SE Aut-2023-M-B-0101	Razwan Faqirullah	56	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	
B.S SE Aut-2023-M-C-0132	Dawood Ijaz	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S SE Aut-2023-M-C-0135	Hassan Adeel	52	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	29	F	-	3	-	-	-	-	-	-	
B.S SE Aut-2023-M-C-0164	Umair Shahzad Toor	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	17	F	-	3	-	-	-	-	-	-	
B.S SE Aut-2023-M-D-0190	Akber Hussain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	
B.S SE Aut-2023-M-D-0195	Hamid Hussain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	
B.S SE Aut-2023-M-D-0197	Ishaf Uddin	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	50	D	1.5	3	4.5	-	-	-	-	-	
B.S SE Aut-2023-M-D-0201	Muhammad Asghar Nazir	-	-	-	-	-	-	-	-	-	-	-	-	-	-	64	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	
B.S SE Aut-2023-M-D-0222	Shahid Nawaz	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-	-	
B.S SE SP-2024-M-A-0001	Abdul Ahad Serfraz Abbasi	61	C	2.0	3	6.0	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	
B.S SE SP-2024-M-A-0004	Aiman Arfaq	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	-	
B.S SE SP-2024-M-A-0006	Ali Aousat Kundi	56	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	
B.S SE SP-2024-M-A-0007	Aliyan Nouman	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-	
B.S SE SP-2024-M-A-0010	Atiqa Saleem	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	-	
B.S SE SP-2024-M-A-0013	Haroon Khalid	66	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	
B.S SE SP-2024-M-A-0014	Hasna Ishtiaq	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	59	C	2.0	3	6.0	-	-	-	-	-	
B.S SE SP-2024-M-A-0015	Hassan Younas	65	C+	2.5	3	7.5	76	B+	3.5	4	14.0	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	
B.S SE SP-2024-M-A-0016	Ihtisham Iqbal	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	56	C	2.0	3	6.0	-	-	-	-	-	
B.S SE SP-2024-M-A-0017	Jaweria Shakoor	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	
B.S SE SP-2024-M-A-0018	Kamran Ali	56	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	42	F	-	3	-	-	-	-	-	-	
B.S SE SP-2024-M-A-0020	Minal Iqbal	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	
B.S SE SP-2024-M-A-0021	Momina Raheel	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	97	A	4.0	3	12.0	-	-	-	-	-	
B.S SE SP-2024-M-A-0022	Muhammad Abbas	58	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	56	F	-	3	-	-	-	-	-	-	
B.S SE SP-2024-M-A-0023	Muhammad Abubakar	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	-	
B.S SE SP-2024-M-A-0025	Muhammad Ameer Muawiya	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	86	A	4.0	3	12.0	-	-	-	-	-	
B.S SE SP-2024-M-A-0026	Muhammad Ashir Irfan Satti	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 20/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Software Engineering) 4th Semester Section-A Morning Session: Autumn 2025

		SE218					SE219					SE221					SE225					SE231				
		Computer Networks					Software Engineering					Software Design & Architecture					Software Requirement Engineering					Advanced Python Programming				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S SE Aut-2023-M-A-0007	Aqib Ali	62	C	2.0	3	6.0	-	-	-	-	51	D	1.5	3	4.5	70	B	3.0	3	9.0	50	D	1.5	3	4.5	
B.S SE Aut-2023-M-B-0064	Adil Ali	70	B	3.0	3	9.0	-	-	-	-	62	C	2.0	3	6.0	50	D	1.5	3	4.5	33	F	-	3	-	
B.S SE Aut-2023-M-B-0089	Muhammad Hassan (Withheld due	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S SE Aut-2023-M-B-0101	Razwan Faqirullah	75	B+	3.5	3	10.5	-	-	-	-	63	C	2.0	3	6.0	75	B+	3.5	3	10.5	30	F	-	3	-	
B.S SE Aut-2023-M-C-0132	Dawood Ijaz	73	B	3.0	3	9.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
B.S SE Aut-2023-M-C-0135	Hassan Adeel	79	B+	3.5	3	10.5	-	-	-	-	62	C	2.0	3	6.0	55	C	2.0	3	6.0	28	F	-	3	-	
B.S SE Aut-2023-M-C-0164	Umair Shahzad Toor	67	C+	2.5	3	7.5	71	B	3.0	3	9.0	55	C	2.0	3	6.0	50	D	1.5	3	4.5	-	F	-	3	-
B.S SE Aut-2023-M-D-0190	Akber Hussain	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	-	50	D	1.5	3	4.5	
B.S SE Aut-2023-M-D-0195	Hamid Hussain	-	-	-	-	-	-	-	-	-	52	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	
B.S SE Aut-2023-M-D-0197	Ishaf Uddin	71	B	3.0	3	9.0	-	-	-	-	32	F	-	3	-	22	F	-	3	-	40	F	-	3	-	
B.S SE Aut-2023-M-D-0201	Muhammad Asghar Nazir	71	B	3.0	3	9.0	74	B	3.0	3	9.0	-	-	-	-	-	-	-	-	10	F	-	3	-		
B.S SE Aut-2023-M-D-0222	Shahid Nawaz	76	B+	3.5	3	10.5	-	-	-	-	66	C+	2.5	3	7.5	60	C	2.0	3	6.0	55	C	2.0	3	6.0	
B.S SE SP-2024-M-A-0001	Abdul Ahad Serfraz Abbasi	83	A	4.0	3	12.0	-	-	-	-	67	C+	2.5	3	7.5	65	C+	2.5	3	7.5	61	C	2.0	3	6.0	
B.S SE SP-2024-M-A-0004	Aiman Arfaq	75	B+	3.5	3	10.5	-	-	-	-	67	C+	2.5	3	7.5	42	F	-	3	-	39	F	-	3	-	
B.S SE SP-2024-M-A-0006	Ali Aousat Kundi	65	C+	2.5	3	7.5	-	-	-	-	67	C+	2.5	3	7.5	36	F	-	3	-	24	F	-	3	-	
B.S SE SP-2024-M-A-0007	Aliyan Nouman	76	B+	3.5	3	10.5	-	-	-	-	81	A	4.0	3	12.0	80	A	4.0	3	12.0	62	C	2.0	3	6.0	
B.S SE SP-2024-M-A-0010	Atiqa Saleem	83	A	4.0	3	12.0	-	-	-	-	87	A	4.0	3	12.0	89	A	4.0	3	12.0	66	C+	2.5	3	7.5	
B.S SE SP-2024-M-A-0013	Haroon Khalid	82	A	4.0	3	12.0	-	-	-	-	71	B	3.0	3	9.0	55	C	2.0	3	6.0	82	A	4.0	3	12.0	
B.S SE SP-2024-M-A-0014	Hasna Ishtiaq	87	A	4.0	3	12.0	-	-	-	-	72	B	3.0	3	9.0	75	B+	3.5	3	10.5	55	C	2.0	3	6.0	
B.S SE SP-2024-M-A-0015	Hassan Younas	76	B+	3.5	3	10.5	-	-	-	-	75	B+	3.5	3	10.5	65	C+	2.5	3	7.5	52	D	1.5	3	4.5	
B.S SE SP-2024-M-A-0016	Ihtisham Iqbal	77	B+	3.5	3	10.5	-	-	-	-	76	B+	3.5	3	10.5	80	A	4.0	3	12.0	26	F	-	3	-	
B.S SE SP-2024-M-A-0017	Jaweria Shakoor	76	B+	3.5	3	10.5	-	-	-	-	71	B	3.0	3	9.0	94	A	4.0	3	12.0	8	F	-	3	-	
B.S SE SP-2024-M-A-0018	Kamran Ali	76	B+	3.5	3	10.5	-	-	-	-	52	D	1.5	3	4.5	67	C+	2.5	3	7.5	30	F	-	3	-	
B.S SE SP-2024-M-A-0020	Minal Iqbal	83	A	4.0	3	12.0	-	-	-	-	85	A	4.0	3	12.0	92	A	4.0	3	12.0	66	C+	2.5	3	7.5	
B.S SE SP-2024-M-A-0021	Momina Raheel	87	A	4.0	3	12.0	-	-	-	-	82	A	4.0	3	12.0	92	A	4.0	3	12.0	76	B+	3.5	3	10.5	
B.S SE SP-2024-M-A-0022	Muhammad Abbas	76	B+	3.5	3	10.5	-	-	-	-	65	C+	2.5	3	7.5	75	B+	3.5	3	10.5	51	D	1.5	3	4.5	
B.S SE SP-2024-M-A-0023	Muhammad Abubakar	84	A	4.0	3	12.0	-	-	-	-	76	B+	3.5	3	10.5	65	C+	2.5	3	7.5	52	D	1.5	3	4.5	
B.S SE SP-2024-M-A-0025	Muhammad Ameer Muawiya	77	B+	3.5	3	10.5	-	-	-	-	82	A	4.0	3	12.0	89	A	4.0	3	12.0	70	B	3.0	3	9.0	
B.S SE SP-2024-M-A-0026	Muhammad Ashir Irfan Satti	76	B+	3.5	3	10.5	-	-	-	-	67	C+	2.5	3	7.5	84	A	4.0	3	12.0	70	B	3.0	3	9.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Software Engineering) 4th Semester Section-A Morning Session: Autumn 2025

Registration #	Name	GE161					GE163					GE166					GE168					GE265					MT143				
		Application of Information & Communication Technologies					Expository Writing					Islamic Studies / Ethics					Social Sciences (Urdu)					Calculus and Analytic Geometry					Probability & Statistics				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S SE SP-2024-M-A-0027	Muhammad Atta Ul Muhaiman	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0028	Muhammad Bilal	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0031	Muhammad Issa	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0034	Muhammad Raheel	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0035	Muhammad Rehan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0036	Muhammad Sheraz Aslam	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	59	C	2.0	3	6.0			
B.S SE SP-2024-M-A-0038	Muneeba Eman	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0039	Muzammil Abbas	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0040	Nadia Bano	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0042	Samavia Maqaddas	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0043	Samra Tul Hina	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0044	Sana Ullah	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	30	F	-	3	-	-	-	-			
B.S SE SP-2024-M-A-0045	Saqib Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	-	-	-			
B.S SE SP-2024-M-A-0046	Sardar Muhammad Tayyab Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0047	Shandana Sherin	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0048	Shujaat Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0049	Sidra Tul Muntaha	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0050	Syed Mubashir Mehdi	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0053	Umair Ali	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-A-0054	Wajahat Khan	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-B-0095	Muhammad Anas	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-B-0100	Muhammad Infal Israr (Withheld d	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S SE SP-2024-M-B-0108	Muhammad Umair Khan	-	-	-	-	-	-	-	-	80	A	4.0	2	8.0	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5			
B.S SE SP-2024-M-B-0120	Touqeer Husnain	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Software Engineering) 4th Semester Section-A Morning Session: Autumn 2025

		MT242					SE111					SE114					SE2110					SE2111					SE213				
		Linear Algebra					Programming Fundamentals (C)					Digital Logic Design					Computer Organization & Assembly Language					Operating Systems					Database Systems				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S SE SP-2024-M-A-0027	Muhammad Atta Ul Muhaiman	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	
B.S SE SP-2024-M-A-0028	Muhammad Bilal	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	
B.S SE SP-2024-M-A-0031	Muhammad Issa	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	77	B+	3.5	3	10.5	24	F	-	3	-	-	-	-	-	-	
B.S SE SP-2024-M-A-0034	Muhammad Raheel	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	-	
B.S SE SP-2024-M-A-0035	Muhammad Rehan	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	
B.S SE SP-2024-M-A-0036	Muhammad Sheraz Aslam	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	-	
B.S SE SP-2024-M-A-0038	Muneeba Eman	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	72	B	3.0	3	9.0	-	-	-	-	-	
B.S SE SP-2024-M-A-0039	Muzammil Abbas	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-	-	
B.S SE SP-2024-M-A-0040	Nadia Bano	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	52	D	1.5	3	4.5	81	A	4.0	4	16.0	
B.S SE SP-2024-M-A-0042	Samavia Maqaddas	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	
B.S SE SP-2024-M-A-0043	Samra Tul Hina	51	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	
B.S SE SP-2024-M-A-0044	Sana Ullah	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	-	
B.S SE SP-2024-M-A-0045	Saqib Ali	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	60	C	2.0	3	6.0	80	A	4.0	4	16.0	
B.S SE SP-2024-M-A-0046	Sardar Muhammad Tayyab Khan	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	
B.S SE SP-2024-M-A-0047	Shandana Sherin	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	53	F	-	3	-	-	-	-	-	-	
B.S SE SP-2024-M-A-0048	Shujaat Ali	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	85	A	4.0	3	12.0	-	-	-	-	-	
B.S SE SP-2024-M-A-0049	Sidra Tul Muntaha	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	84	A	4.0	3	12.0	-	-	-	-	-	
B.S SE SP-2024-M-A-0050	Syed Mubashir Mehdi	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	
B.S SE SP-2024-M-A-0053	Umair Ali	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	86	A	4.0	3	12.0	-	-	-	-	-	
B.S SE SP-2024-M-A-0054	Wajahat Khan	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	72	B	3.0	3	9.0	-	-	-	-	-	
B.S SE SP-2024-M-B-0095	Muhammad Anas	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	72	B	3.0	3	9.0	-	-	-	-	-	
B.S SE SP-2024-M-B-0100	Muhammad Infal Israr (Withheld d						-	-	-	-	-	-	-	-	-	-	-	-	-	-						-	-	-	-	-	
B.S SE SP-2024-M-B-0108	Muhammad Umair Khan	67	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	-	
B.S SE SP-2024-M-B-0120	Touqeer Husnain	61	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (Software Engineering) 4th Semester Section-A Morning Session: Autumn 2025

		SE218					SE219					SE221					SE225					SE231				
		Computer Networks					Software Engineering					Software Design & Architecture					Software Requirement Engineering					Advanced Python Programming				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S SE SP-2024-M-A-0027	Muhammad Atta Ul Muhaiman	78	B+	3.5	3	10.5	-	-	-	-	82	A	4.0	3	12.0	65	C+	2.5	3	7.5	55	C	2.0	3	6.0	
B.S SE SP-2024-M-A-0028	Muhammad Bilal	86	A	4.0	3	12.0	-	-	-	-	76	B+	3.5	3	10.5	82	A	4.0	3	12.0	56	C	2.0	3	6.0	
B.S SE SP-2024-M-A-0031	Muhammad Issa	77	B+	3.5	3	10.5	-	-	-	-	72	B	3.0	3	9.0	65	C+	2.5	3	7.5	61	C	2.0	3	6.0	
B.S SE SP-2024-M-A-0034	Muhammad Raheel	75	B+	3.5	3	10.5	-	-	-	-	53	D	1.5	3	4.5	84	A	4.0	3	12.0	55	C	2.0	3	6.0	
B.S SE SP-2024-M-A-0035	Muhammad Rehan	87	A	4.0	3	12.0	-	-	-	-	71	B	3.0	3	9.0	75	B+	3.5	3	10.5	80	A	4.0	3	12.0	
B.S SE SP-2024-M-A-0036	Muhammad Sheraz Aslam	70	B	3.0	3	9.0	-	-	-	-	62	C	2.0	3	6.0	65	C+	2.5	3	7.5	-	F	-	3	-	
B.S SE SP-2024-M-A-0038	Muneeba Eman	90	A	4.0	3	12.0	-	-	-	-	83	A	4.0	3	12.0	70	B	3.0	3	9.0	62	C	2.0	3	6.0	
B.S SE SP-2024-M-A-0039	Muzammil Abbas	75	B+	3.5	3	10.5	-	-	-	-	81	A	4.0	3	12.0	82	A	4.0	3	12.0	9	F	-	3	-	
B.S SE SP-2024-M-A-0040	Nadia Bano	81	A	4.0	3	12.0	-	-	-	-	66	C+	2.5	3	7.5	37	F	-	3	-	50	D	1.5	3	4.5	
B.S SE SP-2024-M-A-0042	Samavia Maqaddas	78	B+	3.5	3	10.5	-	-	-	-	81	A	4.0	3	12.0	83	A	4.0	3	12.0	62	C	2.0	3	6.0	
B.S SE SP-2024-M-A-0043	Samra Tul Hina	84	A	4.0	3	12.0	-	-	-	-	63	C	2.0	3	6.0	65	C+	2.5	3	7.5	55	C	2.0	3	6.0	
B.S SE SP-2024-M-A-0044	Sana Ullah	94	A	4.0	3	12.0	-	-	-	-	77	B+	3.5	3	10.5	80	A	4.0	3	12.0	60	C	2.0	3	6.0	
B.S SE SP-2024-M-A-0045	Saqib Ali	78	B+	3.5	3	10.5	-	-	-	-	75	B+	3.5	3	10.5	80	A	4.0	3	12.0	19	F	-	3	-	
B.S SE SP-2024-M-A-0046	Sardar Muhammad Tayyab Khan	82	A	4.0	3	12.0	-	-	-	-	67	C+	2.5	3	7.5	75	B+	3.5	3	10.5	50	D	1.5	3	4.5	
B.S SE SP-2024-M-A-0047	Shandana Sherin	77	B+	3.5	3	10.5	-	-	-	-	83	A	4.0	3	12.0	75	B+	3.5	3	10.5	61	C	2.0	3	6.0	
B.S SE SP-2024-M-A-0048	Shujaat Ali	83	A	4.0	3	12.0	-	-	-	-	62	C	2.0	3	6.0	85	A	4.0	3	12.0	65	C+	2.5	3	7.5	
B.S SE SP-2024-M-A-0049	Sidra Tul Muntaha	82	A	4.0	3	12.0	-	-	-	-	86	A	4.0	3	12.0	87	A	4.0	3	12.0	62	C	2.0	3	6.0	
B.S SE SP-2024-M-A-0050	Syed Mubashir Mehdi	51	F	-	3	-	-	-	-	82	A	4.0	3	12.0	58	C	2.0	3	6.0	72	B	3.0	3	9.0		
B.S SE SP-2024-M-A-0053	Umair Ali	81	A	4.0	3	12.0	-	-	-	-	81	A	4.0	3	12.0	65	C+	2.5	3	7.5	91	A	4.0	3	12.0	
B.S SE SP-2024-M-A-0054	Wajahat Khan	75	B+	3.5	3	10.5	-	-	-	-	67	C+	2.5	3	7.5	75	B+	3.5	3	10.5	51	D	1.5	3	4.5	
B.S SE SP-2024-M-B-0095	Muhammad Anas	78	B+	3.5	3	10.5	-	-	-	-	71	B	3.0	3	9.0	80	A	4.0	3	12.0	58	C	2.0	3	6.0	
B.S SE SP-2024-M-B-0100	Muhammad Infal Israr (Withheld d						-	-	-	-																
B.S SE SP-2024-M-B-0108	Muhammad Umair Khan	71	B	3.0	3	9.0	-	-	-	-	52	D	1.5	3	4.5	80	A	4.0	3	12.0	50	D	1.5	3	4.5	
B.S SE SP-2024-M-B-0120	Touqeer Husnain	75	B+	3.5	3	10.5	-	-	-	-	71	B	3.0	3	9.0	84	A	4.0	3	12.0	15	F	-	3	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026